SUPERANNUATION


Introduction
The Superannuation Guarantee Charge (SGC) scheme began on 1 July 1992 and requires all employers to provide a set minimum level of superannuation each year for each employee.  Where an employer fails to provide the minimum level of support, the employer is liable to pay the SGC (like a tax).  The scheme is administered on a self assessment basis.  The SGC is not tax deductible, whereas contributions to a superannuation fund for the benefit of employees are generally tax deductible.



Superannuation contributions should be paid into a “complying superannuation fund” or the Tax Office.  (Speak to your accountant regarding “complying” funds).  An employer’s superannuation contributions for employees which are made in accordance with a C’wealth, State or Territory law, an industrial award or occupational arrangement count towards an employer’s obligations.



The level of superannuation contributions is measured for each employee on a quarterly basis.  That is, each three months commencing 1 July, 1 October, 1 January and 1 April.  To avoid the SGC, the superannuation contributions must be paid within 28 days of the end of the financial year (ie 28 July).

Who must
The superannuation scheme applies to all employers in respect of full-

Comply ?
time, part-time and casual employees, with limited exceptions and additions.  The terms “employer” and “employee” have their ordinary meaning.  Basically, an employee is any person who receives salary or wages (ie. payments are subject to PAYG tax) or is paid under a contract principally for labour, and the person making the payment is the employer.  All Governments, statutory authorities and municipal bodies are required to provide the minimum level of contribution to employees.



The proposed PAYG provisions which extend the definition of “salary and wages” to contractors (for doing work or to produce a result), will also apply to the SGC.  Refer discussion under “salary or wages” in section 3.

Examples
The Tax Office has issued guidelines for the following persons:

· a guest speaker may be an employee, as they are engaged under a contract principally for labour (even if the person is not an employee at common law).

· a courier driver may be an employee either at common law or as someone engaged wholly or principally for labour.

· a director of a company, even if fees are accounted to another party, is an employee.

· a paid member of an executive body is an employee.

· whether an entertainer (and support staff) is an employee depends on the specific terms of the agreement (ie direct engagement, commission agency) between the parties.  A band is a partnership and not an employee.

· a person who provides home-based child care is not usually an employee, unless the carer provides child care in the parents’ own home (ie nanny).

· where an employment agency is used (eg security, temp) the service or labour hire firm is the employer.

· prize moneys and appearance fees, but not player awards (ie “player of the match”), paid to professional sportspersons for sport or promotional activities are “salary or wages”.  Since 1 July 1993, all prize money in a competitive event is exempt.

· a visiting medical officer are generally employees because they are engaged under labour contracts.

Exempt

An employer is not required (but may do so) to provide superannuation

Employees
support for the following “exempt” employees.  Award superannuation applies.

· employees receiving less than $450 a month (based on actual wages);

· employees under 18 and working less than 30 hours/week (determined on a weekly basis);

· employees aged 70 and over;

· resident employees employed by non-resident employers for work done outside Australia; or

· foreign executives with a Class 413 visa

· employees receiving wages under the Community Development Employment Program.

· a person who holds office as a member of a local government council that is not an “eligible local governing body”.

· a person who does domestic/private work for less than 30 hours/week.

· wages paid to a non resident employed for the Sydney 2000 Olympics.



Since 1 July 1998, employees receiving between $450-$900 per month can opt out of super with the employers consent and take the super as salary instead.  For employees under 18, the $900 a month is $1,800 over 2 months.

Minimum
The minimum level of superannuation support (called “charge 

Support

percentage”) that an employer must provide for an employee is set out as follows:

	
	Charge Percentage (%)

	Financial Year
	Employer’s base year payroll $1,000,000 or less
	Employer’s base year payroll above $1,000,000

	  July ‘92 – Dec. 1992
	3
	4

	  January ‘93 – June ‘93
	3
	5

	1993-94
	3
	5

	1994-95
	4
	5

	1995-96
	5
	6

	1996-97
	6
	6

	1997-98
	6
	6

	1998-99
	7
	7

	1999-00
	7
	7

	2000-01
	8
	8

	2001-02
	8
	8

	2002-03 and beyond
	9
	9


Charge

To determine the minimum level of support, an employer must first find 

Percentage
the “charge percentage”.  This is found by reference to the employer’s annual national payroll in the “base year”.  The base year is the first financial year (including 1991/92) in which the employer is an employer for the full year.



Therefore, for an employer in existence during the whole of 1991/92, the charge percentage is determined by the employer’s annual national payroll for the financial year ended 30 June 1992.  Annual national payroll is the aggregate of salary or wages paid during the year.  (Each company in a group of related companies is treated as a separate employer).  Using the above table, if the employer’s 1991/92 payroll was $1m or less, use the charge percentage in the left-hand column for all years (even if payroll exceeds $1m in the future).  If the 1991/92 payroll was more than $1m, the charge percentage in the right-hand column must always be used.



Where an employer’s first full year is after 1991/92, an employer must use the percentage in the left-hand column until the year after the employer’s first full financial year (ie. base year).  The charge percentage will then be determined by the payroll for the base year.  If in the base year the employer’s payroll exceeds $1m, the employer will use the charge percentage in the right-hand column for all years after the base year; otherwise, the employer continues to use the left-hand column for all years.

Example
X Pty Ltd began business 1 October 1992.  It’s annual payroll was 1992/93 $1.2m; 1993/94 $1.5m; 1994/95 $1.7m and 1995/96 $0.9m.



For 1992/93 (part year) and 1993/94 (first full year), annual national payroll is deemed to be < $1m and the left hand column applies (ie. 3% both years).  As the payroll exceeded $1m in the first full year, for all years after 1993/94, the right hand column must be used (including 1995/96).

Employee’s
An employer must provide a minimum level of superannuation support

Notional
based on an employee’s “notional earnings base”, that is, an employee’s

Earnings
earnings.  There are a few ways to determine an employee’s earning base.  Usually it is Base stated in a superannuation fund’s trust deed, an industrial award, a law of the Commonwealth, State or Territory or under an agreement with the employee.  In some cases, the earnings of a standard employee or the base established for a particular industry may be used.



If there is no acceptable earnings base relevant to the employee, then “Ordinary Times Earnings” (OTE) of the employee is used.  OTE is discussed below.  In all cases, the notional earnings base is subject to a maximum (over).

The calculation of the notional earnings base is performed at the end of each contribution period (ie. 30 September, 31 December, 31 March, 30 June).  However, the “type” of earning base used must is determined at the latest of: (1) the first day of the contribution period; (2) the day the employee commenced employment; or (3) the day the employer commenced to make contributions to the fund.



The final earnings base selected will largely depend on whether the employer was contributing to a superannuation fund for employees on 20 August 1991.

Contributing
If the current employer was contributing to a superannuation fund on 20

on 20 August
August 1991 and is still contributing, the notional earnings base for the 

1991

employee is the earnings base used at 20 August 1991 by the employer.  For example, a fund which states that contributions are 7% of an employee’s salary, is considered to have an earnings base of “salary”.



If the fund’s trust deed is amended after 20 August 1991 and the earnings base is reduced, then the notional earnings base is determined as if no support was provided on 20 August 1991 (see below).

Standard 
An employer making superannuation contributions under an award or law

Base

which was operative before 21 August 1991, and which required contributions to be based on earnings of a standard employee, may use the standard employee as the earnings base.

Flat Dollar
 Where superannuation contributions under an industrial award are based 

Contributions on a fixed sum, the earnings for all full time employees in that class will be the  notional earnings base of the employee.



For example, if the award requires a flat $20/week, based on a Grade 1 driver, the notional earnings base for employees under the award will be the base rate earnings of the Grade 1 driver.

Not

 Where an employer was not contributing to a superannuation fund on 20 Contributing
 August 1991 for the employee (or was doing so, and the earnings base has 

on 20 August
 been reduced), the notional earnings base will be one of the following:

1991
· if the employer is currently contributing to a superannuation fund, use the earnings base as specified, provided it is equal to or greater than Ordinary Time Earnings (OTE) - discussed below);

· if the employer is currently contributing under an award, but the earnings base is less than OTE, still use the earnings base specified in the award; or

· any other case – OTE



Thus, a person’s earning base is usually at least OTE, or the award base if less.

Maximum
There is a maximum notional earnings base.  For 1999/00, the maximum Earnings
contribution base is $25,240 per quarter or $100,960 per annum.  An 

Base

employer does not have to provide super for earnings in excess of the threshold.

Ordinary
OTE is the total of the employee’s earnings in respect of ordinary hours of Times

work and earnings for over-award payments, shift loading and 

Earnings
commission.  A further checklist of payments is in Ruling SGR 94/4. 

(OTE)

(Note, OTE cannot exceed the maximum contribution base - $100,960 pa).  Lump sum payments on termination in lieu of unused annual leave, long service leave or sick leave are excluded from OTE.

Measuring
An employer is required to measure the actual level of superannuation 

Support

support provided to each employee during each “contribution” period.  The level of support reduces the charge percentage to determine if there is a SGC shortfall.



The method of measuring the superannuation support depends on whether the fund used is a “Defined Benefit Superannuation Scheme” or another type of fund.  However, in all cases, the fund used must be a complyingsuperannuation fund.  (A deposit into the SHAR (discussed below) is taken as if it were a contribution made to a complying fund).

Defined

Where an employer contributes to a defined benefit superannuation 

Benefit

scheme, a benefit certificate must be obtained from an actuary.  The 

Super

certificate states the percentage level of support (eg 5%) provided for each 

Scheme

class of employees in the scheme (called the “notional employer contribution rate”).  This rate “reduces” the charge percentage (refer calculations below).

Other

Where a fund other than a defined benefit superannuation scheme is used, 

Funds

the actual contributions paid to the fund by the employer will have to be converted to a percentage.  The percentage calculated (eg. 5%) is then used to reduce the charge percentage (refer calculations below).  If the employee is only employed for part of the period, the percentage level of support is adjusted proportionately.

Example
John was employed on 1 July 1999 and has a notional earnings base of $9,000 (for the quarter) under an award superannuation agreement. The employer contributes $500 to the award fund.  The employer also contributed $300 to an employer sponsored fund, which has an earnings base of gross salary ($10,000 for the quarter).  The employer’s percentage level of superannuation support is:




- under the award  =       total contributions in period    
x
100




          employee’s notional earnings base

  1





=
  $500

x    100






$9,000

        1





=
5.55%




- under the employer
=
  $300

= 3%



   arrangement


$10,000



The total percentage level of superannuation support for the period is 5.55% + 3% = 8.55%.



Where an employee receives superannuation support for only part of a period, the percentage must be adjusted.  Using the example above, if John was covered by the award only from 1 August 1999, the percentage for the quarter would have been:





=  $300 (employer contributions in period)
x  61 days  x  100




    $6,500 (notional earnings base in period)
    92 days        1





=  3.06%



For flat dollar award contributions, the percentage level of employer support is calculated by reference to the amount of actual contributions paid by the employer as a proportion of the standard employee’s notional earnings base.

Contribution Employer superannuation support is calculated for each contribution 

Period

   period (beginning 1 July, 1 October, 1 January and 1 April).  

Due

   To avoid any liability to the SGC, contributions must be paid within 28 

Date

   days of the end of the financial year (ie. 28 July each year).

Salary

The Tax Office considers that superannuation contributions under a salary 

Sacrifice
sacrifice arrangement are made by the employer if the employee’s reduced salary is the level on which the employee pays income tax.  After tax salary amounts withheld by the employer and contributed to a fund on an employee’s behalf are employee contributions.

Tax Office
The Tax Office established on 1 July 1995 a collection mechanism to 

Collection
receive small superannuation contributions.  Payments to the Tax Office’s 

Mechanism
“Superannuation Holding Accounts Reserve” (SHAR) are treated “as if” 

SHAR)

they (were payments to a complying fund.



Employers are able to make payments to the Tax Office where the amount of contribution is less than $1,200 per year for an employee.  The money received by the Tax Office is not be reduced by any administrative charge and interest is payable on amounts held up to $1,200.  At any time employee’s may have the money in the SHAR account transferred to a regulated or public sector fund.

Calculating
An employer needs to determine if there is a superannuation shortfall for 

the Super
any employee.  Therefore, an employer needs to measure the level of 

Shortfall
superannuation support provided to an employee during a contribution period and compare this to the minimum level of support.  The calculation involves:

· Determining the charge percentage.  Refer table section 5.2;

· Determining the actual percentage support provided to each employee.

· Comparing the charge and actual percentages. If the actual percentage equals or exceeds the charge percentage, there is no shortfall.  If the actual percentage level of support is less than the charge percentage, a shortfall exists and SGC is payable.



The superannuation shortfall for the employee for the period is the difference between the charge percentage (ie. minimum %) and the percentage level of support, multiplied by the total of salary or wages paid during the period.



“Salary or wages” has its ordinary meaning and includes commissions, director’s fees, payments for creative talents, or payments for services in connection with the making of any film, tape or TV program.  Fringe benefits are specifically excluded.  The amount cannot exceed the maximum contribution base.



An employer’s superannuation shortfall for a year is the total of all quarterly 

shortfalls of its employees for the year.

Example
For 1994/95, employer A has a percentage charge of 4%.  An employee has received only 2.5% support each quarter.  The percentage shortfall is 1.5% (4% - 2.5%).  The shortfall for each quarter is:

	Quarter
	Shortfall (%)
	       Salary

	1
	1.5
	$7,000       =  $105.00

	2
	1.5
	$7,200       =  $108.00

	3
	1.5
	$7,500       =  $112.50

	4
	1.5
	$8,000       =  $120.00

	
	
	                       $445.50




The superannuation shortfall for A is $445.50.



An employer can avoid any SGC by making contributions by 28 July each year.

Calculating
The SGC is payable where there is a superannuation shortfall.  The SGC is 

the SGC
calculated as:






- the total of the shortfalls;






- the nominal interest component for the year; and






- the administrative component.



The shortfall is the amount calculated in section 5.5 (above).  The administrative component is a flat $50 plus $30 for each employee who has a shortfall.



The nominal interest component is to compensate the employee for earnings that are lost because the employer failed to provide the employee sufficient remuneration.  The interest is calculated from 1 July of the relevant financial year to the date the charge is payable (ie. the later of the date of lodgment of the superannuation guarantee statement or 14 August of the following year).  
Interest is calculated at 10% on all shortfalls from 1 July, regardless of the period to which it relates.

Example
In 1995/96, A company has a shortfall of $4,000.  A shortfall statement is lodged on the due date, 14 August 1996 (ie 410 days since 1 July 1995).  The shortfall consists of $2,000 (1st quarter) and $2,200 (2nd quarter).



Interest is:

$4,400  x  410 days x  10%
=   $494.25








     365 days


  The SGC paid to the Tax Office is divided into its components and the charge amount is then redistributed to the relevant employee.  The Tax Office would normally notify the employee that a shortfall component is due to them.  The employee may request the trustee of a complying superannuation fund to collect the shortfall component from the Tax Office.

Implications The disadvantages of not paying superannuation include:

· the shortfall, interest and administrative fee are not tax deductible;

· the shortfall calculation is based on salary or wages and not the earnings base; 

· a Superannuation Guarantee Statement needs to be prepared - more work!

SGC

An employer’s liability to the SGC is self assessed.  Only employers with a

Return

shortfall are required to lodge a Superannuation Guarantee Statement.  These forms are available from the Tax Office.  The statement and SGC (tax) must be lodged by 14 August each year.  If the SGC is paid late, interest accrues at 10% per annum.

Records
An employer must keep records of all transactions in relation to superannuation for five years, irrespective of whether the employer is liable to the SGC.

NATIONAL TAX MANAGER
103
07/00


